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1. REEMEREIERE(1)IZTDONT
(1) EREREELEE175FF1EHF1SORTITELY . BRRAMIEZFOFTT(FHIZOWNT, H
BRAMIEZFEDFEA TELMRICZEORELZRCTHENCEBFICEHIIEESEED
NRNPENTF=Z2BRE B+ 5REELMIEE (2,462 A) ICYZAEMIEEDFEMTOHEEE
CCHE-28% 2R LT-%8,
(3,660 A x 100 #k+3,670 M x 100 #k+3,675 A x 500 ¥k +3,680 A x 600 %k
+3,840 [ x 200 k)
— (2,462 M x 1,500 #£)
=1,853,500 M

(2) &MEAEELEEFE1765FE2IEDMEICKY . L52(1) TEHELZED 1 FARED IHEK
=Y T. 1,850,000 &7 5,

2. REEMASMERERE(2) 2DV T
(1) ERERIELEEE175FF1EHF1SORTEICELY . BRAMAEFOFTT(FHIZOWNT, H
ERAMAEZFEDF A TELMEICEOHEEZRCTHREICEBFICEHILIEESED
NRNESNF-Z2BRIZH T EHREEMEE (2,462 A) ICYZAEMIESFDOTMTOREELE
C B35 =R L1485,
(3,495 M x 100 #k+3,670 FH x 100 # 3,680 FH x 100 # 3,685 F x 100 #k
+3,725 4 x 100 #k+3,806 4 x 100 #k)
—(2,462 M x 600 #£)
=728,900 [

(2) EREAEELEE 1765 FE2IEMREICLY . EE(1) THELZED 1 AAXRED iHEK
YT, 720,000 &S,

3. RHEMTa R XERE (3)IZDUVT

(1) EMEAIEELEE175FF1EF1EORTITELY . BRAMIEFOFT(TFHIZTOWNT, H
ERAEMAEZFOSEMA TEL-MEICEDHREZRCTHREICEBFICEHILSIEESED
NRNSNF-Z2BREIZH T EHREELMEE (2,462 A) ICYZAEMIESDTMTOREELE
CTE=882 2R T-%E,

(3,665 4 x 1,000 ¥+ 3,670 F4 x 1,000 %)

—(2,462 4 x 2,000 k)
=2411,000 M

(2) EMBELIELEFE176EFE2IHNOBEICKY., £ (1) THELEZED 1 HHEXED IHE
#Y)T. 2,410,000 HE75 5,



